0 Toho Technology

Y/SHIDA

Power Distribution Terminal Block

KT/UK/UGTBserieS

Toho Technology

o


Automation
タイプライタ
Power Distribution Terminal Block


~ Specifications

Product Name  |Rated Current|  Branching Qty Screw Size Page
KT125T 125 2 M8,M5(X2) 4
KY125F 125 4 M8,M6(x4) 4
KT150T 150 2 M8,M6(X2) 5
KT150F 150 4 M8,M6(X4) 5
KT200NT 200 2 M10,M8(x2) 6
KT200NF 200 4 M10,M8(X2),M6(X2) 6
KT300NT 300 2 M10,M8(X2) 7
KT400ZT 400 2 M12,M8(x2) 8
KT400NF 400 6 M12,M8(X2),M6(x4) 8
KT600NT 600 2 M16,M8(X2) 9

- KT60ONF 600 6 M16,M8(X2),M6(X4) 9
UK225HO 25 2 M4(x3) 12
UKY225W o5 M4 12

| UKN225W 25 M4 13
UKN225NW 25 M4(x4) 13

| UKN225SW 25 M4 14
UKN250 50 5 M5(X2),M4(X4) 14

- ucTB-2 132 17 M8(X2),M6(X2),M4(X14) 16

. UCTB-3 132 17 M8(X2),M6(X2),M5(x 14) 16

@ Compliance

i JIS C 8201-1

Low-voltage switchgear and control gear

[ JIS C 8201-7-1Low-voltage switchgear and control gear - Part 7 : Ancillary equipment



Automation
タイプライタ
           

Automation
タイプライタ
         

Automation
タイプライタ
   Low-voltage switchgear and control gear

Automation
テキスト ボックス
Low-voltage switchgear and control gear - Part 7 : Ancillary equipment


KT Series

<>

® Maximum 6 branching.

® Maximum current 600A

® Choose from "DIN Rail" and "Direct Mount".

@ How to order

Assemble
C : Rail Mount
J : Panel Mount

Position Qty

1~
Product No.
KT125T 125A 2 branching
KT125F 125A 4 branching
KT150T 150A 2 branching
KT150F 150A 4 branching
KT200NT 200A 2 branching
KT200NF 200A 4 branching
KT300NT 300A 2 branching
KT400zZT 400A 2 branching
KT400NF 400A 6 branching
KTB60ONT B600A 2 branching
KTB0OONF B600A 6 branching

Note: Individual components for sale. Please specify only Product No.



KT125T

Rail Mount Panel Mount
14.5 25.5N+8 +0.1N 14.5
2.M5x12L 10 3.5 25.5N+29 01N 35
T 2M5x12L 10,
FE el i i
Faita IV
min || i | i Sl SIS Y
\_:_ - m = m = m _:_/ g 8 o - |} L} @: - =
— P 0 ©
i i f = f i f 2
D DD DD[@IE
Iz | 1]
/ L L L
M8X16L 2515 3| 225 M8x16L/ o EJH -
Recommended
Terminal [
105 I I Ic I i
a1 J=EE.
M8 Screw 8] (& ! | ik N l Q
., —= ’%_—l : = e
M5 Screw 3@
Rail Mount Panel Mount
8 33.5N+16(N-1) 202N 8. 25.5N+25.5(N-1)+29 02N 35
4-MEX12L 16, 8. 24MBX12L s
Iz e
& (@ || 2 g (8 O,
D & >) 5 D &) A
= i @ % i B o %: %_ o
" D |l |© 1 S © 1@ 1@ 1=hs
5 £ 5 E - - =3
- e ere E=E=(E
Recommended MBX16L 05 iL 025 o | ol s
Terminal 3 4 I
10.5 ’_+4
P O 2] =2 = e |58 ==
9.1 7 i = ] gl‘r
T
M6Screw & (&>
Specifications
oKT125T-KT125F
KT125T KT125F £/ Rail KT-C
Voltage Rating 600V S|EndPlate | KT100-a
Maximum Current 125A -g & | End Bracket | KT-b, KT-b1
@ |8 | Shaft Rod KT-f
Recovvri?:nded 65)n112n2~'!\/|8 SSmmimg § 5 [Mount Plate | KT100-g
5.5mm2 (14mm?)...M8 mm & |&| Name Plate | KT-e
Tightening Torque|  M8-+-6.0~9.0N*m M8:+-6.0~9.0N-m 8| Cover KT100-d

(with crimp terminal)

M5:---26.0~3.0N*m

M6:-::2.56~3.75N'm

Insulation Resistance

>1000MQ (DC500V M)

Withstand Voltage AC2500V 1 min with ground
Temperature -20°C ~ +55°C
Relative Humidity 45-85% R.H.

Mounting

C : Rail Mount, J : Panel Mount

Maximum Position

15




KT150T

Rail Mount Panel Mount
-
31N F0-IN 14.5, 5 31N+24 01N 5
2iFdiEL 28, amexiel 125
2 ol s oy [ 2 exyan||eayanilliayzsI==1
NVANY/ NN INTAN B NTANY QDQ% X .
Qﬁ & E 5 &
(S = ey '\t feo
Recommended o H}{ ®
Terminal 4 4+ @ Vax i
N W=
16 ‘ 1.5 MBX14L 31 2| o7 MBX14L 31 2| o7
M8 Screw &
jASnijp|igasnajp gaans) jasasp|jgassaly)jgasan|
10.5 10, o o3
M6 Screw I N %' g jb ]
o (& % %
Rail Mount Panel Mount
31N+16(N-1) £02N 8 5, 31N+30(N-1)+24 02N 5
4-M6X12L 16 25 4-M6X12L 125,
T 08 @8 ] || ee  ee  [ee
N o i 2 i i i Q
Ll el el ; o P9 -
NN NN, NN NN NN N\ —H =
s Tes mee o cet
ﬁ% oo ®
Recommended + & @‘ Ed @3 6@ @\J
Terminal i i i i 1 i
M8x14L 47 2 27 M8x14L 61 30 27
16 _ 115 \2
~ "
M8 Screw © 1 1 1 I 1 1 1
I | | £0 T jine) .
105 10, 03 of ®
oA ] &
M6 Screw  w o
Specifications
eKT150T-KT150F
KT150T KT150F =[ Rail KT-C. UKC
Voltage Rating 600V 2 End Plate _
Maximum Current 150A 3 €| End Bracket KT-b, KT-b1, UK-b
Recommended | 60mm2--- M8 60mmz2 -+ M8 2 |3 shaftiRod KT150-( )f
Wire 14mm2(22mm2) -+ M6 | 14mm2 -+ M6 @ | 5| Mount Plate KT200N-g
- - g Spacer (KT-150F) | KT600Z-s
Tightening Torque| M8 --- 6.0~9.0N*m M8 -+ 6.0~9.0N'm § | Name Plate KT150-e
(with crimp terminal) | M6 -+ 2.5~3.75N*m M6 -+ 2.5~3.75N'm &| cover KT100-d, KT150-sd

Insulation Resistance

>1000MQ (DC500V M)

Withstand Voltage| AC2500V 1 min with ground
Temperature -20°C ~ +55°C
Relative Humidity 45-85% R.H.

Mounting

C : Rail Mount, J : Panel Mount

Maximum Position

12



Automation
タイプライタ
KT Series


KT200NT

Rail Mount Panel Mount
42N *01N 145 5 42N+24 *01N 5
2.M8x16L ‘ 2.MBx16L 16,
0 0
- g
G~ %
- =
M10Screw 8] (T
m m ]
105_13
‘ il I | | 3 <
M8 Screw €| (& % i p &
Rail Mount Panel Mount
42N+16(N-1)£02N 5 42N+30(N-1)+24 T0N 5
2-M8x16L 1
2-M6X12L -
%@ % Al 9
\SZAu7|
i 5
a @ Y NWA Y N
N — =N N N Y 7]
e o SR E‘E'g’_ N
|| - ‘ﬁ’z

M8 Screw

Specifications
KT200NT KT200NF

Voltage Rating 600V

Maximum Current 200A 200A
100mm?2:--M10 100mm2 --- M10
Recommended 14mm?2 (38mm2)---M8 22mm2 --- M8
Wire 14mmz2 -+ M6

Tightening Torque| M10-:+10.0~15.0N-m M10 ---10.0~15.0N'm

(with crimp terminal)

M8::-6.0~9.0N-m

M8 --- 6.0~9.0N°‘m
M6 --- 2.5~3.75N-m

Insulation Resistance

>1000MQ (DCS500V M)

Withstand Voltage AC2500V 1 min with ground
Temperature -20°C ~ +55°C
Relative Humidity 45-85% R.H.

Mounting

C : Rail Mount, J : Panel Mount

Maximum Position

wioxzoL/ 72 | so || ss
\a5
T T T
- | “nt
eKT200NT-KT200NF
‘g Rail KT-C, UK-C
2| End Plate -
8 | £ End Bracket KT-b, KT-b1, UK-b
‘g . Shaft Rod KT200N-( )f
3 % Mount Plate KT200N-g
S| [ Spacer (KT-150F) | KT600Z-
§ | Name Plate KT200N-e
§ Cover KT200N-d, KT200N-sd




KT SENEE

KT300NT

M10 Screw

M8 Screw

Specifications

165
km\
A\

Rail Mount
145 47N 0N 145
’ 2-MBX16L 19,
T Im mﬂl T T
AN o IPE
AN !@@! N7AN o
I I 8
il il S=E
L &
I~y WY o)
N\
M10Xx20L / 47 3.5 40
M M M Il
[ it i1l ] 3
— & B °
Panel Mount
s 47N+24 50N 5

‘ 2-M8x16L

KT300NT
Voltage Rating 600V
Maximum Current 300A
Recommended 150mm2:--M10
Wire 22mm?2 (60mm2) ---M8
Tightening Torque M10::-10.0~15.0N*m

(with crimp terminal)

M8 ---6.0~9.0N'm

Insulation Resistance

>1000MQ (DC500V M)

Withstand Voltage AC2500V 1 min with ground
Temperature -20°C ~ +55°C
Relative Humidity 45-85% R.H.

Mounting C : Rail Mount, J : Panel Mount

Maximum Position

9

54

oKT300NT
g Rail KT-C, UK-C
o |Z|EndPlate | —
£ | 2| End Bracket | KT-b, KT-b1, UK-b
@ 5| ShaftRod | KT-300N-( )f
§ 3| Mount Plate KT200N-g
< § |Name Plate | KT300N-e
§ | Cover KT200N-d, KT300N-sd



Automation
タイプライタ
KT Series


KT400ZT

Rail Mount Panel Mount
58N*0IN 14.5 5 58N+24 01N 5
- 2.M8x16L 24 " 2-M8X16L 24
& ole olloof X ne
ESME Ntéi bj 8
| 3
& ©
58 4J 50 J M1 2><30|_/ 58 4J \_ 50
Terminal
1] i i m i
M12Screw 3] (@ 1] @H@HE@ ] E@HE@HE@ ]
i i i @ I | I
175 13 = ks 9 <
M8 Screw l- = :

KT400NF

Panel Mount
8 7ON+30(N-1)+24 5 8
455
2.M8x16L 4l
@ @ s BT
(v}
% 4-M6Xx12L % ,%ﬁ%%e - o
N
& & & @ & @
] TR . NIRRT
Recommended B © D & © D |[eX
Terminal om:I:*[gH il m @ i Iy % @ Hu&* 2 =)
© L 1T L 17 L 17
265 16 K [ —L N B8
jpminny RO RC RO G RORE
o H W H H H H
M12 Screw m ZZM?ZXSOL 100 30 |o| 52
11 17.7
M6 Screw  « N
8 @1 s,
14.2 - 20.4 jj olB
1 1 B
M8 Screw 5 - —l —
Specifications
KT400ZT KT400NF KAzt U
Voltage Rating 600V - g End Plate | —
Maximum Current 400A" 400A % &| End Bracket| KT-b, KT-b1, UK-b
2... ® | 5| ShaftRod | KT400Z-( )f
RECeminE e 200mmz---M12 Zggmﬁz (1'\g(1)$mz)...,v|8 8 | 5 Mount Plate KT200N-g
Wire 60mm2---M8 o 2
22mm2 (38mm32) ---M6 Cover KT400Z-d,KT400Z-sd
Tightening Torque| M12--14.0~21.0N-m | M12-14.0=21.0N-m *KT400NF
(with crimp terminal) M8 --6.0~9.0N'm M6 --2.5~3.75N-m g Shaft Rod KT400-( )f
Insulation Resistance >1000MQ (DC500V M) % I\S/Is::;rlate E$gogoz s
8 N
Withstand Voltage AC2500V 1 min with ground
Temperature -20°C ~ +55°C
Relative Humidity 45-85% R.H.
Mounting C : Rail Mount, J : Panel Mount ‘ J : Panel Mount
Maximum Position 7 *When using more than 350A, 3 or 4 wire branching is required on M8 terminal side.




KT Series

KT600NT

Rail Mount
8 80N+24 *2 8
2-M8X16L 30
B iy S B
e oo oKe oo
ld /| *
8| o/ == H HH HHE-—2
K: Bl s
VN
o D ol O -
2265 /I ‘gf%’ gf%’ N “rﬁf
M16x35L / 80 10 60
345 _ 21
1S -
M16 Screw | ]
T TA[{ | T TA T ]
185 . ol
- <
M8 Screw l@ ?;
Panel Mount
8, 8ON+30(N-1)+24 *3 _
55
2.M8X16L rﬂ.
& @ & & &
- 4-MBx12L 5(g|
& #  |e ¢ & &
ailH
Ll P EA
: ] a[
D
M16 Screw HE N e
142 204 60
ot
M8 Screw aﬁ T
-I::[ ! ] ! [
11 20.7 . ] o®
M6 Screw Q@E — — i
Specifications eKTG0ONT-KTE0ONF
8 | Shaft Rod KT400-( )f
KT600NT KT600NF é Mount Plate | KTN-g
Voltage Rating 600V < | Spacer KT600Z-S
Maximum Current 600A * 600A
Recommended | 325mm2---M16 325mmz2--M16
Wire 60mm2---M8 60mm2 (100mm?2)---M8
22mm?2 (60mm?) ---M6
Tightening Torque M16--:25.0~37.5N'm M16 ---25.0~37.5N'm
(with crimp terminal) M8:---6.0~9.0N*m M8 --- 6.0~9.0N°m
i M6 -+ 2.5~3.75N'm

Insulation Resistance

>1000MQ (DC500V M)

*When using more than 350A, 3 or 4 wire branching is required on M8 terminal side.

Withstand Voltage AC2500V 1 min with ground
Temperature -20°C ~ +55°C
Relative Humidity 45-85% R.H.
Mounting J : Panel Mount
Maximum Position 3

({0}


Automation
タイプライタ
KT Series


<>

® UL, CSA, EN, RoHS listed.

® Save Panel space for wire branching, grounding and

power distribution.

Choose from "DIN Rail" and "Direct Mount".

@ How to order

UKN225NW - 3 J

W (EN)

Product No.

UK225H0
UKY225W

UKN225W

UKN250

Positions

1~

* 2 branching
: Upper/Lower connected

(Spring Lifted)

 Upper/Lower connected
UKN225NW :

UKN225SW :
. 5 branching

3 branching
Right/Left connected

Assembling

Compliance

Blank : No label
(UL)

(C—-uL)

(CsA)
(EN)

Name Plate

Blank : Standard Name Plate

W : Wider Name Plate

C : On rail (Toho Original Rail)
CU : On rail (Toho DIN35mm Rail)
CH : On rail (Toho DIN35mm Higher Rail)

J :Panel Mount

Note: Individual components for sale. Label is required to show proof of regulation compliance.

Please specify when ordering.
Standard product and parts are not included in compliance label.

1



UK225HO @\ @ &

V Rhoinland

Rail Mount (UK-C, EK-CH)

11 11.3N+6 £0IN 11
_% o : 2
wn
o |
'? | S
M4x8.6L
0
Q8
ol £
@l T
8
' ] 3
Rail Mount (UK-C, EK-CH)
el 11.5N+6£0-1N 11
F@ @t:‘
o ) D B
! lrevgslzaomlav ||
|z
2 »
9.8 hz \méxaseL
115
Recommended
Terminal
ol @
5.6 § ;:?
T
S| aet
6T ik
pecifications
® UK225H0
UK225HO UKY225W =
Voltage Rating 8 <l | UK-C, EK-CH, KT-C
600V 'S |EndPlate | UK225HO-a
Maximum Current 25A 2 | End Bracket | UK-b, UK-bh2, KT-b, KT-b1
[0) T
Recommended Wire 5.5mm?2 g |Name Plate | UK-HOe
< | Cover KT60-d
Tightening Torque -
(with crimp terminal) 2= 7 l;KT225W
- : — o |Rai UK-C. EK-CH. KT-C
Insulation Resistance AC2500V 1 min with ground .g T EED UKY225W-a
Withstand Voltage >1000MQ (DC500V M) § End Bracket | UK-bh2, KTT-b
o 9 Q |Name Plate | P9-e
T t - ~ (5}
- 20C ~+55C < [cover KT100-d
Relative Humidity 45-85% R.H.
Mounting Rail Mount (C,CU,CH)

12



U K Series

UKN225W QY@ &

Rail Mount (UK-C, EK-CH) Panel Mount
11 11.5N+620IN 44 56 11.5N+2420.1N 56
=[gEEEE e JeeEEE)
D - " Lﬂ u—‘_"o
waxaL / 17]dl8 maxaL /. 1.2]|98
11.5_ 1.5
62 (s 6 2] ———
Terminal 28 DppIE P
spEREn ol S -
o CMEHEEEEI E | epeee
N 0 S ————— | = = ]
Rail Mount (UK-C, EK-CH) Panel Mount
11 11.5N+60N 11 56, 11.5N+24%0-1N 56
olgegEs e SEEeE, |
) e 3 Lﬂ UL_‘ ro
#@g@@@% glelgele
MAX8L 1.7 9!8 M4x8L 1.7, 9|.8
1.5 11.5]
DSBS ————
Recommended HIE P F g - SSEASEA S
Terminal ggggg ;’ g dEIPIPEE|B =
e | e | s | s | S| x
e I 5 ekeEe
N sl R -
UKN225W UKN225NW 'U'ENiglsw'UK::?::'CH —
= €| Rai -C, -CH, KT-
Voltage Rating 6oov ol = EndPiate | UKN225-1a, UKN225-2a
Maximum Current 25A 5| | End Bracket| UK-bh2, KTT-b
Recommended Wire 5.5mm?2 % §| ShaftRod | UK225-( )f
- ; 81 9| Mount Plate| UKN225-g
Tightening Torque 1.2~1.8N'm <| "¢ Name Plate | P9-e
(with crimp terminal) & cover KT60-d

AC2500V 1 min with ground

Insulation Resistance

Withstand Voltage >1000MQ (DC500V M)
Temperature -20°C ~ +55°C
Relative Humidity 45-85% R.H.

Mounting

Rail Mount (C,CU,CH), Panel Mount(J)

13


Automation
タイプライタ
UK Series


UKN225SW QY @ 2

Specifications

=

i1 1 23N+3(N-1)+6*0N

Rail Mount (UK-C, EK-CH) Panel Mount
11 11.5N+60IN 14 56, 11.5N+24+0-IN 5.6
< alEe— | [(EkEEEE
; ] (@ 8 Lﬂ — L=
waxaL / 1798 maxaL /. 1.7]/98
1.5 1.5
5—@@-@%@ 2l o -
ZI:!:J:!:!:" §§ DTS
Epeee HE drFFPFIP =
—HEEEEE 5E (epeee
Rail Mount (UK-C, EK-CH) Panel Mount
1 56 23N+3(N-1)+24 01N 56

Cl
o
Cl

NP ]

Recommended
Terminal

Upper

12.2 0’

MaxsL 64| | 20

e A e

o | [
M5X10L

ica
=2

=1 R
=

M4x8L 6.

p
p
p

jun]
O
1
[N}
0O

UK-C: 54.5
EK-C: 62

I
J:
)

[N
O

UKN225SW UKN250

Voltage Rating

600V

Maximum Current

25A 50A

51

Recommended Wire

5.5mm2 Upper : 14mm?
oMMy
Lower : 5.5mm?

Tightening Torque
(with crimp terminal)

Upper : 2.0~3.0N-m

1.2~1.8N'm || cwer: 1.2~1 8N'm

Insulation Resistance

>1000MQ (DC500V M)

Withstand Voltage AC2500V 1 min with ground
Temperature -20°C ~+55°C
45-85% R.H.

Relative Humidity

oUKN225SW
‘gi_ Rail UK-C, EK-CH, KT-C
2 % | End Plate | UKN225-1a, UKN225-2a
'S |X | End Bracket| UK-bh2, KTT-b
§ g] ShaftRod | UK225-( )f
8 [ | Mount Plate| UKN225-g
e

o
oUKN250

£ | Rail UK-C, EK-CH, KT-C
= | End Plate | UKN225-2a
5z | End Bracket| UK-bh2, KTT-b
§ 5 | ShaftRod | UK250-( )f
é:% 0 | Mount Plate | UKN225-g

Mounting

Rail Mount (C,CU,CH), Panel Mount(J)

§ | Name Plate | P9-e

£l
3 | Cover

KT60-d

14



1. When "A" is greater than 300mm, Please
‘ mount at 3 positions.

|_A(Mounting Pitch) | Mounting pitch must be under 300mm.
| |_B(Entire Rail) A+25mm |

Position -KT1251 | KT125F KT150T | KT150F | KT200NT | KT200NF | KT30ONT | KT400ZT
OSHION| wav jength | "A" length | "A" length | "A" length | "A” length | "A" length |"A" length | "A" length
1 75 50 75 50 100 75 100 100 KT125F. KT150F KT200NF
2 100 100 125 100 126 125 150 175 -> "A" mounting pitch is used with KT-c, KT-b1.
3 125 150 150 150 175 175 200 225
4 150 200 175 200 225 250 250 275 KT125T, KT150T, KT200NT, KT300NT,
5 175 250 200 250 250 300 275 350 KT400ZT
6 225 300 250 300 300 350 325 400 ->"A" mounting pitch is used with KT-c, KT-b.
7 250 350 275 350 350 425 375 450
8 275 400 300 375 400 475 425 525
9 300 450 325 425 425 525 475 575
10 325 500 350 475 475 600 525 625
UK225HO | UKY225W| INN220N | UKN250 UK225HO | Ukvazsw| UKI22oN | ukn2so Uk225HO | UKv225w | U 2o | Uki2so0
"A" length | "A" length| "A" length |"A" length "A" length| "A" length "A" length|"A" length "A" length | "A" length | "A" length ["A" length
1 50 50 50 75 18 250 250 250 525 35 450 450 450 950
2 /5, 75 75 100 19 275 275 275 550 36 450 475 475 975
3 75 75 75 125 20 275 275 275 575 37 475 475 475 1025
4 100 100 100 150 21 300 300 300 600 38 475 500 500 1050
5 100 100 100 175 22 300 300 300 625 39 500 500 500 1075
6 125 125 125 200 23 300 325 325 650 40 | 500 525 525 | 1100
72 125 125 125 225 24 325 325 325 675 41 525 525 525 1125
8 150 150 150 250 25 325 350 350 700 42 525 525 525 1150
[e] 150 150 150 275 26 350 350 350 725 43 550 550 550 1175
10 175 175 175 300 27 350 375 375 750 44 550 550 550 1200
11 175 175 175 325 28 375 375 375 775 45 575 575 575 1225
12 175 200 200 350 29 375 375 375 800 46 575 575 575 1250
13 200 200 200 375 30 400 400 400 825 47 575 600 600 1275
14| 200 200 200 400 31 400 400 400 850 48 | 600 600 600 1300
15 225 225 225 450 32 425 425 425 875 49 600 625 625 1325
16 225 225 225 475 33 425 425 425 900 50 625 625 | 625 | 1350
17 250 250 250 500 34 450 450 450 925
| Srandedm™)| — 05 [075]125| 2 | 35|55 | 8 |14 | 22 | 38 | 60 |100 150 200 |325
Z | Soidmm) | 95|08 1012 [16]20| =| —=| = | = | =| = | =| =| = | —
KT125T 30 | 40 | 50 | 70 | 94 | 132 |(132)
KT125F 50 | 70 | 94 | 132 |(132)
KT150T 50 | 70 | 94 | 132|175
KT150F 50| 70 | 94 | 132 | 175
KT200NT 94 | 132 | 175 | 240 |(240)
KT200NF 50 | 70 | 94 | 132 | 175 | 240 | (240)
KT300NT 94 | 132 | 175 240 | 310
KT400ZT 94 | 132 | 175 | 240 | 310 |(400)
KT400NF 50 | 70 | 94 | 132 | 175 | 240 | 310 | (400)
KTG60ONT (600)
KT600NF 94 | 132 | 175 | 240 | 310 |(400) |(600)
UK225HO0 4| 7 | 11|16 | 29 | 30 | 40
UKY225W 47 | 11]16]21]30]|40
UKN225W 4| 7 | 1116 | 21 | 30 | 40
UKN225NW 4 7 11 16 | 21 30 | 40
UKN225SW 4 7 11 16 | 21 30 | 40
UKN250 4|7 | 11|16 ]| 21|30 |40 | 50| 70
UCTB 4 7 11 16 | 21 30 | 40 50 | 70 | 94 [ 132

17



Accessories

End Plate A side Protection Cover

~ ﬁName Plate

nd Plate B side Shaft Rod

End Bracket

Rail End Cap

KT-C
7.3
vl 125 25 9 ;
NETE 2] =il
[ 1 /
) '}
= —co) & It - 8 -
o [T " )
M Rail M Rail End Cap
Product No. Length (mm) Packaging Product No. Rail Packaging
KT-C 1000, 1500, 2000 10 KT-ec KT-C 10
UK-C 1000, 1500, 2000 10 UK-ec UK-C 10
EK-CH 1000, 1500, 2000 10 EK-ec EK-CH 10
HEName Plate Il End Bracket
Product No. Terminal Block Width X Length | Packaging Product No. Rail Packaging
8.5X1000 50 KT-b KT-C 100
KT-e KT125T,KT125F,UKY225W 8.5X25000 > KTT-b KT-C 100
UK-HOe UK225H0 10x1000 50 KT-b1 KT-C 100
UKN225W,UKN225NW, UK-b UK-C,EK-CH 100
D UKN225SW,UKN250,UKY225W 12.5x1000 50 UK-bh2 UK-C,EK-CH 100
[l Protection Cover (Multiple Positions) [l Mounting Plate
Product No. Terminal Block Width X Length | Packaging Product No. Terminal Block Packaging
UK225H0,UKN225NW, KT100-g KT125T,KT125F 10
S UKN225NW,UKN225SW,UKN250 Gy = KT200N-g KT150T,KT150F,KT200NT,KT200NF,KT300NT 10
KT100-d KT125T,KT125F,KT150T,KT150F 59X920 20 KT400ZT
UKY225W KT150-g KT150T,KT150F,KT200NT,KT200NF,KT300NT 50
KT200N-d KT200NT,KT200NF,KT300NT 73%X920 20 KT400ZT
KT400Z-d KT400ZT 89x920 20 KTN-g KT400NF,KT600ONT,KT600NF 50
UKN225-g UKN225W,UKN225NW,UKN225SW,UKN250 10
[l Protection Cover (Single Position)
‘ - M End Plate
Product No. Terminal Block Length (mm) |Packaging
KT150-sd KT150T, KT150F 58.5x27 20 Product No. Side A Side B Packaging
KT200N-sd | KT200NT, KT200NF 67%37 15 KT125T | KT100-a = 10
KT300N-sd KT300NT 67X44 o KT125 = - -
KT400-sd KT400ZT 83%54 6 FKT150T = = =
KT150F = = =
H Shaft Rod KT200NT = = —
Product No. Terminal Block Length (mm) KT200NF = - —
KT-f KT125T,KT125F 1000 KT300NT = = =
KT150-()f | KT150T,KT150F KT400ZT = = =
KT200N-()f | KT200NT,KT200NF KTA00NF = = =
KT300N-()f | KT30ONT , ETEHHTE = — —
KT400Z-()f | KT400ZT Depending on N KT600NF — = =
KT400-( )f KT400NF numbers of position UK225H0 | UK225H0-1a UK225H0-2a 50 Each
KT600-( )f KTE0ONT,KT600NF UKY225W | UKY225W-a UKY225W-a 50 Each
UK225-( )f UKN225W,UKN225NW,UKN225SW UKN225W | UKN225-1a UKN225-2a 50 Each
UK250-( )f UKN250 UKN225NW | UKN225-1a UKN225-2a 50 Each
UKN225SW | UKN225-1a UKN225-2a 50 Each
M Spacer UKN250 | UKN225-2a (Each position requires end plate) 50
Product No. Terminal Block Length (mm) |Packaging
KT600Z-S KT400NF,KT600NF 6.2x30 20

18



TN

Compliant List

— 4

N v Compliance
UL File No.:E70906

Product No. | Approved Product |Voltage Rating| “&f‘r"e’;‘tm Recommended Wire Tightening Torque Type Wiring
UK225H0 UKU225H0 600V 25A 12-8AWG. 1.2N'm Field and Factory
UKN225W UKN225W 600V 25A 14-10AWG. 1.2N'm Factory
UKN225NW | UKN225NW 600V 25A 14-10AWG. 1.2N'm Factory
UKN225SW | UKN225SW 600V 25A 14-10AWG. 1.2N‘m Factory
UKN250 UKN250 600V 50A Upper © 10-6AWG. Lower : 14-10AWG: | Upper : 20N-m Lower ! 1.2N-m|  Factory

Field and Factory: Crimp terminal and stripped wire.

@» CSA Compliance
CSA File No.:LR67180

Factory: Crimp terminal only.

Product No. | voltage Rating | M&mum Recommended Wire Tightening Torque | Spacing Group
UK225H0 600V 25A 22-8AWG. 1.2N'm B,C,D
UKN225W 600V 25A 14-10AWG. 1.2N'm B,C,.D.E
UKN225NW | 600V 25A 14-10AWG. 1.2N'm B,C,D,E
UKN225SW | 600V 25A 14-10AWG. 1.2N-m B,C,.D.E
UKN250 600V 50A Lower - 1116AG, e o B.C.D.E
mé_ EN Compliance

UK225H0 600V 25A 14-10AWG. 1.2N-m R9451484 | —
UKN225W 500V 25A 14-10AWG. 1.2N-m R9551421 | —
UKN225NW | 500V 25A 14-10AWG. 1.2N'm R9551421 | —
UKN225SW | 500V 25A 14-10AWG. 1.2N-m R9551421 | —
UKN250 600V B50A  |Upper: 10 6aWG. Lower : 14-10AWG. | Upper: 208'm Lower: 128'm| RO551423 ==

[Note] It is necessary to use insulation coating crimp terminal or insulation cap.

Precautions

@ Please use appropriate current and voltage according to the manual.

@ Our products were not designed or manufactured for use in devices or systems directly related to human life. Users who

intend to use the product described in this manual for special purposes must contact Toho Technology Inc, beforehand.

@ If this product is to be involved a life and death situation or in a facility where failure may cause a serious accident, safety
devices must be installed to minimize the likelihood of any accident.

@ When tightening terminal screws without wiring, the recommended tightening torque is following,

Screw Tightening Torque (N/m) Screw Tightening Torque (N/m)
M3 0.4~0.6 M10 1.0~14
M3.5 0.5~0.7 M12 1.0~1.4
M4 0.5~0.7 M16 1.0~1.4
M5 0.5~0.7
M6 1.0~1.4
M8 1.0~1.4

o

% The products and specifications described in this manual or the content and presentation of the
manual may be changed without notice to improve the product and/or the manual.

Toho Technology

www.tohotechnology.com

Toho Technology Inc.

4809 North Ravenswood Avenue, Suite113, Chicago, lllinois 60640 Tel: 773.583.7183

Ver 1.0
2014.07-1.5KK-1



	hp_pdf_tb_brkt
	hp_pdf_tb_brukn
	1407-分岐端子台0-20POL
	hp_pdf_tb_brkt



